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SET OPERATIONS WITH INTERVALS

MATCHING GAME

The goal of the puzzle is to make correct pairs of questions and answers with a minimal
amount of incorrect attempts.

Warning: The interactivity in this PDF file is enabled by
Javascript. For full funcitonality you have to use the Javascript
capable PDF browser. Currently only Adobe Reader is
available.



SCORE

If a machine is expected to be infallible, it cannot also be intelligent.
Alan Turing, one of the leading codebreakers of Enigma code.

Set operations with intervals are assigned numbers. The results of these operations are assigned letters.
Match each letter with a number so that you get the correct result of each operation.
Set operations:

1 [−3; 2) ∪ (1; 5)[−3; 4) ∩ (0; 5)[3; 7] ∪ (0; 5)[−3; 4) r (0; 5)[−3; 4] ∪ [−2; 5][−3; 1) ∪ (0; 3)[−3; 1] r (1; 7)[−1; 4) ∩ (1; 6)

2 [−3; 2) ∪ (1; 5)[−3; 4) ∩ (0; 5)[3; 7] ∪ (0; 5)[−3; 4) r (0; 5)[−3; 4] ∪ [−2; 5][−3; 1) ∪ (0; 3)[−3; 1] r (1; 7)[−1; 4) ∩ (1; 6)

3 [−3; 2) ∪ (1; 5)[−3; 4) ∩ (0; 5)[3; 7] ∪ (0; 5)[−3; 4) r (0; 5)[−3; 4] ∪ [−2; 5][−3; 1) ∪ (0; 3)[−3; 1] r (1; 7)[−1; 4) ∩ (1; 6)

4 [−3; 2) ∪ (1; 5)[−3; 4) ∩ (0; 5)[3; 7] ∪ (0; 5)[−3; 4) r (0; 5)[−3; 4] ∪ [−2; 5][−3; 1) ∪ (0; 3)[−3; 1] r (1; 7)[−1; 4) ∩ (1; 6)

5 [−3; 2) ∪ (1; 5)[−3; 4) ∩ (0; 5)[3; 7] ∪ (0; 5)[−3; 4) r (0; 5)[−3; 4] ∪ [−2; 5][−3; 1) ∪ (0; 3)[−3; 1] r (1; 7)[−1; 4) ∩ (1; 6)

6 [−3; 2) ∪ (1; 5)[−3; 4) ∩ (0; 5)[3; 7] ∪ (0; 5)[−3; 4) r (0; 5)[−3; 4] ∪ [−2; 5][−3; 1) ∪ (0; 3)[−3; 1] r (1; 7)[−1; 4) ∩ (1; 6)

7 [−3; 2) ∪ (1; 5)[−3; 4) ∩ (0; 5)[3; 7] ∪ (0; 5)[−3; 4) r (0; 5)[−3; 4] ∪ [−2; 5][−3; 1) ∪ (0; 3)[−3; 1] r (1; 7)[−1; 4) ∩ (1; 6)

8 [−3; 2) ∪ (1; 5)[−3; 4) ∩ (0; 5)[3; 7] ∪ (0; 5)[−3; 4) r (0; 5)[−3; 4] ∪ [−2; 5][−3; 1) ∪ (0; 3)[−3; 1] r (1; 7)[−1; 4) ∩ (1; 6)

Intervals:

A [−3; 5)(0; 4)(0; 7][−3; 0][−3; 5][−3; 3)[−3; 1](1; 4)

B [−3; 5)(0; 4)(0; 7][−3; 0][−3; 5][−3; 3)[−3; 1](1; 4)

C [−3; 5)(0; 4)(0; 7][−3; 0][−3; 5][−3; 3)[−3; 1](1; 4)

D [−3; 5)(0; 4)(0; 7][−3; 0][−3; 5][−3; 3)[−3; 1](1; 4)

E [−3; 5)(0; 4)(0; 7][−3; 0][−3; 5][−3; 3)[−3; 1](1; 4)

F [−3; 5)(0; 4)(0; 7][−3; 0][−3; 5][−3; 3)[−3; 1](1; 4)

G [−3; 5)(0; 4)(0; 7][−3; 0][−3; 5][−3; 3)[−3; 1](1; 4)

H [−3; 5)(0; 4)(0; 7][−3; 0][−3; 5][−3; 3)[−3; 1](1; 4)



Wow! Do your friends by any chance
call you Wolfram or maybe Alpha?

You can go celebrate!Super-duper!
That is what I call a fine job!

You are the champion!Good job, buddy!Almost there.
I’m sure you’ll even do better next time.

Hermione’s top of the class title is
almost on the line.

A little harder and you would kill it. Try
it again.

You are so close to victory,
don’t give up!

That was close! Next time you will
shine like a star.

Everyone can make a mistake. What’s
important is to learn from it and don’t

give up.

Not great, not terrible.
You are somewhere in the middle.
Hang in there, there is space for

improvement.
Don’t worry, your result is more than

half correct.
Not bad! In some areas you haven’t got

enough knowledge yet.
Hey, it could be worse, right?Keep trying. It will be better next time.Could be worse!Are you keeping your energy for later?Pity, you might need to practice more.For this test - the goose is in the oven!

Try another test.
Have you ever seen the way a chicken

flies?
You solve math problems that way. . .

The stars weren’t aligned in your favour
today.

The awkward moment, when the only
thing on your exam you know is your

name.

The awkward moment, when you finish a
math problem and your answer isn’t

even one of the choices. . . .




